ieveeeenrind. L

ieveeeenrind. L

] Laboratorium Metrologii
Cwiczenie nr 6: Oscyloskop.
PROTOKOL POMIAROWY

SYGNAL 1 (CH1)

Czut: .............
Podstawa czasu: ..............
Napiecie midzyszczytowe: ............
Sktadowa stata: .............
Okres: ............

Czstotliwos¢: ............

SYGNAL 1 (CH2)

Czult: .............
Podstawa czasu: ..............
Napkcie midzyszczytowe: ............
Sktadowa stata: .............
Okres: ............

Czstotliwosc: ............

SYGNAL 2 (CH1)

Czu: .............
Podstawa czasu: ..............
Napicie midzyszczytowe: ............
Sktadowa stata: .............
Okres: ............
Czstotliwosc: ............



SYGNAL 3 (CH1)
Czutéé: .............

Podstawa czasu: ..............

Skiadowa stala: .............

Napkcie midzyszczytowe: ............
Okres: ............

Czstotliwos¢é: ............

Punkt1: .............. Vo S Czas narostu: ............
Punkt2: .............. Voo, S .
Punkt3: .............. Vo S Czas opadania: ............

SYGNAL 4 (CH1)

Czutéé: .............
Podstawa czasu: ..............

Skiadowa stala: .............

SYGNAL 5 (CH1)

Czutéé: .............
Podstawa czasu: ..............

Napicie midzyszczytowe: ............

Skiadowa stala: .............
Okres: ............
Czstotliwosc: ............

Czas narostu: ............

Czas opadania: ............

Poziom wysoki

Czas trwania: ............
Poziom niski

Poziom: ............
Czas trwania: ............

Wspotczynnik wypetnienia: ............



